
www.troax.com

Machine
guarding

Follow me

A
rt no

: 88750222 ver. 01       P
rint no

: 201909-1572-E
N

Blue Guard 
System



Ø8 17 mm 5 mm13mm

www.troax.com

A
rt

 n
o

: 8
87

50
22

2 
ve

r. 
01

 

2/8

Blue Guard System
BG Kit Panel Fixings x3 77000714

BG Kit Floor Fixings x3 77000715

BG Kit Angle Fixings 77000725  +      
BG Angle Profile 77000724

BG Kit Support for post 77000727 +   
BG Support for post 77000726

x3 x3

x5

x1

x2

x2
M8x25

x4

x8 x4

x4
M8x115

x3 x6

x3
x3
M8x115

x2x2

x2
M8x25

x1

x3

x2
24x8x2

x2
24x8x2



www.troax.com

A
rt no

: 88750222 ver. 01 

3/8

12
00

5600

12
00

1

BG Kit Floor 
Fixings x3

2 3 4

4 5 6

7 8

13mm

M8x115

M8

Ø8



www.troax.com

A
rt

 n
o

: 8
87

50
22

2 
ve

r. 
01

 4/8

BG Kit Panel 
Fixings x3

BG Kit Panel 
Fixings x3

7 8

5 6

9

10

13mm

13mm

A

B

C

F

E

D

13mm 13mm

BG Kit Panel 
Fixings x3

13mm



www.troax.com

A
rt no

: 88750222 ver. 01 

5/8

5 6

7 8

!

13mm

13mm

BG Kit Panel 
Fixings x3

BG Kit Panel 
Fixings x3

BG Kit Panel 
Fixings x3

BG Kit Panel 
Fixings x3



www.troax.com

A
rt

 n
o

: 8
87

50
22

2 
ve

r. 
01

 

 6/8

5

6

7 8

25° - 90°

13mm

BG Kit Angle Fixings BG Kit Angle Fixings +       
BG Angle Profile

M8x25 24x8x2

13mmBG Kit Angle Fixings



www.troax.com

A
rt no

: 88750222 ver. 01 

7/8

5 6

7

8

!

13mm 13mmBG Kit Panel 
Fixings x3

BG Kit Panel 
Fixings x3

BG Kit Panel 
Fixings x3

13mm

BG Kit Panel 
Fixings x3



www.troax.com

A
rt

 n
o

: 8
87

50
22

2 
ve

r. 
01

 

 8/8

7

BG Kit Support for 
post

5

BG Kit Support 
for post

13mm

BG Kit Support for 
post + BG Support 
for post

M8x25

13mm

6

Ø8

M8x115

M8


